(ZHE A LY MHEEREKRAEH)

=1LE L [OLEEA T

AT 1 DU SR B0 | 2928 1 DU 350 BA ST
X (a P24 4 A 1 EI) (E TRR254E 4 A 1 EI) Eq (5
£ VRL244-6 A30H F VR2546 A30H

TR ERRRE (ETCIRAEILRIER) 8, 894 8,923 28 0.3%

(& = 1E B & m B )|( 8,894 )|( 8,923 )|( 28 )| ( 0.3)

® & 35 Z I #® 9, 846 9,919 72 0.7
Bl (5 E ok e A B BB |( 8,936 )| ( 8,965 )| ( 28)|( 0.3)

® & 5 2 & A 6, 797 6, 854 56 0.8

Ob E OB X OB OBR OB &) |( 6,193 )| ( 6,209 )| ( 16 )| ( 0.3)
L|OB R E W A& &) |( 550 )| ( 593 )| ( 43 )| ( 7.8)
Flow # F808 R e R) | 54)|( 51)[(A DHlca 51

& ®E ®# B W # 40 2| A 8 | A 20. 1

(OB A K OB Y A A ) |( 43 )| ( 3/B)|(CA A 17.9)
18 & B E A % =] - - - -

E X B RV - fBEHEE 1,840 1,909 69 3.

RBRBIZIR DB RB RO BEEE) |( 1,840 ) [( 1,909 ) | ( 69 )| ( 3.8)

z O fh #& ® B * A 0 1 2 -
5| 2 £ i #* 1,247 1,18 | A 5 [ A 4.7

C B B 35 = F & )| 1,208 ) |( L,155) (A 53)|( A 4.4)
W | 4 il F o - - - -
E% 51 i % 1 oA A 225
| Al # =% A 1 A 1 -
B3l ® £ 8 # A & 1,246 1,187 | A 58 [ A 4.7
A OB R U & E ®B 13 121 A 0| A 5.1
& A B £ & it 13 121 A 0| A 5.1
Py ® H 4 F Eo 1,233 1,175 | A 58 | A 4.7
| = B 1 & e 75.5 % 75.9 %
;E E % # X #H 0X 21.2 21.9
() 1 RIS | RS = PRI S 52 UNAS — (PRBRS |2 B + RIS TPk 2 B A RO S ) =2 Ol

7RF. T OIS B B HR F I SRR ME)/J%)\*ME%%E& EThYET,
AHAR) S TERIALRBEEX 10 0

2. EMEER= (IERARBRE +HEE

3. IEMRT R R= GEFER M OERL +RIRGIZITIED

HEL RO REHE) S IERDAGRBE X 10 0




